
División (B)
Calcule los cocientes siguientes.

0
54R2

6)326
77R6

9)699
76R4

5)384
90R1

9)811

90
5)450

114R1
7)799

996
1)996

39R8
9)359

70
9)630

149R4
6)898

13R1
9)118

228
2)456

197R2
4)790

127R5
7)894

155R1
5)776

251R1
3)754

114R3
8)915

279
1)279

48
5)240

75R1
7)526

42
4)168

113
5)565

90R1
3)271

204R1
2)409

80R1
8)641

116R2
5)582

84R1
4)337

104R5
6)629

120
1)120

161
5)805

30R2
9)272

39R5
6)239
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División (B) Respuestas
Calcule los cocientes siguientes.

0
54R2

6)326
77R6

9)699
76R4

5)384
90R1

9)811

90
5)450

114R1
7)799

996
1)996

39R8
9)359

70
9)630

149R4
6)898

13R1
9)118

228
2)456

197R2
4)790

127R5
7)894

155R1
5)776

251R1
3)754

114R3
8)915

279
1)279

48
5)240

75R1
7)526

42
4)168

113
5)565

90R1
3)271

204R1
2)409

80R1
8)641

116R2
5)582

84R1
4)337

104R5
6)629

120
1)120

161
5)805

30R2
9)272

39R5
6)239
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